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QUESTION 1

Which functionality do regular expressions provide?
A. text pattern matching

B. underflow prevention

C. increased numerical precision

D. decreased processing complexity

Correct Answer: A

QUESTION 2

You are using k-means clustering to classify heart patients for a hospital. You have chosen Patient Sex, Height, Weight,
Age and Income as measures and have used 3 clusters. When you create a pair-wise plot of the clusters, you notice
that there is significant overlap between the clusters. What should you do?

A. Identify additional measures to add to the analysis

B. Remove one of the measures

C. Decrease the number of clusters

D. Increase the number of clusters

Correct Answer: C

QUESTION 3
Refer to the Exhibit.
In the Exhibit, the table shows the values for the input Boolean attributes "A", "B", and "C". It also shows

the values for the output attribute "class”. Which decision tree is valid for the data?
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A.Tree B
B. Tree A
C.TreeC
D. Tree D

Correct Answer: A

QUESTION 4
Refer to the exhibit.
In the exhibit, a correlogram is provided based on an autocorrelation analysis of a sample dataset.

What can you conclude based only on this exhibit?
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Lag

A. There appears to be no structure left to model in the data
B. There appears to be a seasonal component in the data
C. Lag 1 has a significant autocorrelation

D. There appears to be a cyclical component in the data

Correct Answer: A

QUESTION 5
Which data asset is an example of quasi-structured data?

A. Webserver log
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B. XML data file

C. Database table

D. News article

Correct Answer: A
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